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OoZgig A28 2 7,000
OJIg AIREga38 7¢ 6,500
OJIEtx=24]| 3,400
02 232%H4| 500 500 0
O2H 0l =5 %L EHHiY| 500
202 044l 36,960 35,280 1,680
01 2L I 36,960 35,280 1,680
ENEBE JI2gL2 =AU
140,000 = 222 x 12&€ 36,960
203 &2 =&XH| 8,480 8,480 0
03 AIZH =& 25 X H| 2,000 2,000 0
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X ZH -
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el

BT A2
HHSAAH (RATH)
o121 2 2|

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-Jl2s 2,141,000& * 3¥ » 123 77,076
= 38,538
< 11,561
Al 26,977
- Z UGS A 140,000& = 3 = 128 5,040
s Rt 145,000& = 3 » 12& 5,220
— NRtelag
17,4203 = 16A12t = 3H = 128 10,034
— X2 &l
11,6108 = 8AI2F = 3 » 10 2,787
- ZIESZ2H0=
2,141,000& = 10% » 3% * 23| 1,285
- EF0tl 1,284,600 » 3H * 23] 7,708
-tE=E 60,000& = 3% = 12& 2,160
O4l 28 111,310,000& * 11% 12,245
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